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Pints to Liters

Fill in the correct numbers.
Take 1 pint = 0.47 liters and round your answers off to the nearest hundredth.

5 pints = liters

7 pints = liters

3 pints = liters

0.6 pints = liters

1.8 pints = liters

0.5 pints = liters

0.4 pints = liters

16 pints = liters

1.2 pints = liters

23 pints = liters

0.07 pints = liters

2.25 pints = liters

20 liters = pints

100 liters = pints

300 liters = pints

400 liters = pints

250 liters = pints

180 liters = pints

2.5 liters = pints

15.6 liters = pints

40 liters = pints

10.4 liters = pints

55 liters = pints

209 liters = pints

If 1 pint = 0.47 liters, 1 liter equals 1/0.47 = 2.1276 pints! 
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Answers

Fill in the correct numbers.
Take 1 pint = 0.47 liters and round your answers off to the nearest hundredth.

5 pints = 2.35 liters

7 pints = 3.29 liters

3 pints = 1.41 liters

0.6 pints = 0.28 liters

1.8 pints = 0.85 liters

0.5 pints = 0.24 liters

0.4 pints = 0.19 liters

16 pints = 7.52 liters

1.2 pints = 0.56 liters

23 pints = 10.81 liters

0.07 pints = 0.03 liters

2.25 pints = 1.06 liters

20 liters = 42.55 pints

100 liters = 212.77 pints

300 liters = 638.3 pints

400 liters = 851.06 pints

250 liters = 531.91 pints

180 liters = 382.98 pints

2.5 liters = 5.32 pints

15.6 liters = 33.19 pints

40 liters = 85.11 pints

10.4 liters = 22.13 pints

55 liters = 117.02 pints

209 liters = 444.68 pints

If 1 pint = 0.47 liters, 1 liter equals 1/0.47 = 2.1276 pints! 


